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Tutorial 4

1.

Solve the following equations:
a) 1.33x- 0.1x* =1
b) 2x- 4 N 1-x _
8-x x-4
Some equations in non-standard form can be solved by transformation:

For example, for X++/x -12= 0,

writeit as x- 12 = - 4/x.. Square both sides and then solve the resulting quadratic
equation for x. (Remember checking your solution.)

8

For three consecutive integers, the middle one is m. The product of the largest and
the smallest isto m + 11. Find these numbers.

The frame of a picture is arectangle with dimension 3m by 4m. The width of the
border is uniform. The area of the picture is haf of the area of the frame. Find the

width of the border.
4m

Picture 3m

5. Find the value of the discriminant and state the number roots of the following

eguations.

a) x*-3x-4=0

b) 3x*- x+3=0

C) - 4x*- 4x-1=0
d) 9x? - 42x+49=0
€) 8x°- 3x+5=0
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Solution

40
1 808125 b) =7
a) ) T

X =9 (x =16 isrgected)
-2,-3,-40r3,4,5

width = 0.5m (3m is regjected)
a) 25, 2 red roots,

b) —35, no red roots

¢) 0, double root

d) O, double root

€) —151, no real roots
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